1

goooogn

T-920000000000000000O0

1 Fewr T_F3 F4 (FEw|_ F&T £ 1" M_Fe™
'E FZoom|Edit| « [A11|Stulefm ... - e |[Zcam
A FLOTE i

Flot 1: tmax=
ot 1 =R tstep=.2

= z Hmin=-45

Pt 1=20-4 - 129,58 £< | L < 2. 040516326530 wmax=45

xh2=t. wscl=l

wtz=70-4 - 1-2-9.8 42 enin=dy
xt3=0 + 20 cosi8) (L — 2. 04081 63265306) | =] gscl=1
Lyt 3=20, 402163265306 + 20 - sin(e) [t - 2. 04k
xt1CtI=5
LRI LEG AUTD EAE LL1AIN LEG AUTD EfiF;

Few Fz

1 4 FEv |_FE™ |F7
- E Zoon|Trace |ReGraph[Math|Draw| -

16 LG HUTD

EAE

gbobobobooboooooooboboboboooooboobobo 20000000000
gboboobOooobobooobooboobooboboboboooDT=00000000000¢tO02z0y0O0O

g 1g0o0oood

gooooon

gboooooboboooboobooooboobooogn

gboooboooboobgooboboobo

gboocoooobooooobobooboobooogon
O000000ooOoo (15,1 00000000000

oboooboboobooTTr=00000000000DODOOOO

J)f:l5

xp =vpcosf xt+15 |

. 1 2
ytzvosm9><t—§><9.8><t + 15

UbOOv O00O00000000

goboobobooboobobooobtyouoboobDbOo0D 2z 0O00DOO0ODOOOODOOO

gbobobooboob0t¢:=0000000000000000O00O00O00O00O00O0O0O00O00O00

1
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Animate : xt12 =15 yt12=19.6 %t —1/2% (9.8) x> + 15|t <0
Line : xt13 = 5% cos(45) xt + 15 |t > 0 yt13 =5 sin(45) xt — 1/2 % (9.8) x t* + 15
Line : xt14 = 3% cos(30) ¥t + 15 |t >0 yt1d = 3% sin(30) x t — 1/2 % (9.8) x % + 15
Line : xt15 = T cos(60) xt + 15 [t > 0 yt15 = 7 sin(60) xt — 1/2 % (9.8) x 2 + 15
Line : £t16 = 9 % cos(75) xt + 15 [t > 0 yt16 = 9 x sin(75) xt — 1/2 % (9.8) x t* + 15
Line : £t17 = 10 * cos(85) xt + 15 | t >0 yt17 = 10 * sin(85) xt — 1/2 % (9.8) x t* + 15
Line : xt18 = 5% cos(45)  —t+ 15|t >0 yt18 =5xsin(45) xt — 1/2% (9.8) x> + 15
Line : xt19 = 3% cos(30)  —t+ 15[t >0 yt19 =3 sin(30) xt — 1/2% (9.8) x> + 15
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Animate : xt1l =250 ytl =19.6 %t —1/2% (9.8) xt* |t < 1

Path :xt2 =3%t+22 yt2=196+t—1/2%(9.8) x> |1 >t andt < 3
Path : xt13 = =3 %t +28 yt3 =19.6 %t —1/2% (9.8)xt? |1 =t andt <3
Line : xtb = v xcos(0)(t —3)+31 | t =2 3 andv =4 and 0 = 60

yth =vx sin(f)(t —3) —1/2% (9.8) % (t —3)2 +14.7 | v =4 and § = 60
Line : 2t6 = cos(0)(t —3) + 31| t =23 andv =4 and § = 120

yt6 = v x sin(0)(t —3) — 1/2% (9.8) % (t —3)? +14.7 | v = 4 and 6 = 120
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Line : xt15 = v x cos(0)(t — 3) +19;| t =2 3 andv = 4 and § = 60

yt15 = v x sin(0)(t — 3) — 1/2 % (9.8) * (t —3)> + 14.7 | v = 4 and 6 = 60
Line : 2t16 = cos(§)(t —3) + 19| t 2 3 andv =4 and § = 120

yt16 = v * sin(0)(t —3) — 1/2 % (9.8) % (t —3)* +14.7 | v =4 and § = 120
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= 2.04082
1
20 x 2.04082 — - 9(2.04082)* = 20.4082
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y = 10sin()(t — 2.04082) — $g(t — 2.04082)2 + 20.4082[¢ = 2.04082
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